XELORK
HE A SRS IEE LY HANSAVFLEX

] -7
=3 L4
g0 1 BSPAMRL, BT ; ea_
EHER 1 O EHMAEIR . ]
BO2+3  KENREERR o o T
BEFR2+3 20°M% i Sy oy
| '. - e N
P RARBIER 5ATAD i | N N
EHRHR L S I N B
e ISO 8434-1 — -
- l OR
BEEE EEHHRRSMDER) i o
3] e -
RERP SRR
#’R
BXTE, A, ENAEMATN TIREN HBEESAERSEENRAEL,
g
GHR  TAEER
5 B
XELORKNWO4 HL L PN 315 6 G 1/8"-28 M12x15 7 14 19 21 14 14 14 8.00x1.50
XELORKNWO6 HL L PN 315 8 G 1/4" -19 M14x15 9 16 23 23 14 19 17 10.77 x 2.62
XELORKNWO8HL L PN 315 10 G 1/4" -19 M16x15 9 17 25 24 19 19 19 10.77 x 2.62
XELORKNW 10 HL L PN 250 12 G 3/8"-19 M18x15 9 19 28 26 19 22 22 13.94x2.62
XELORKNW 13 HL L PN 250 15 G1/2"-14 M22x15 13 21 30 28 22 27 27 17.86x2.62
XELORKNW16 HL L PN 250 18 G1/2"-14 M26x15 13 24 36 31 27 27 32 17.86x2.62
XELORKNW20HL L PN 160 22 G 3/4" -14 M30x2 13 28 36 35 30 36 36 23.47x262
XELORKNW25HL L PN 160 28 G1"-11 M 36 x 2 15 31 44 38 36 41 41  29.74x3.53
XELORKNW32HL L PN 160 35 G1.1/4"-11 M45x2 15 38 50 48 50 50 50 37.69x3.53
XELORKNW40HL L PN 160 42 G1.1/2"-11 M52x2 15 38 52 49 50 55 60 44.04x3.53
XELORKNWO3HS S PN 315 6 G 1/4"-19 M14x15 9 15 23 22 14 19 17  10.77 x 2.62
XELORKNWO04HS S PN 315 8 G 1/4"-19 M16x15 9 17 27 24 19 19 19 10.77 x 2.62
XELORKNWO6HS S PN 250 10 G 3/8"-19 M18x15 9 18 29 25 19 22 22 13.94x262
XELORKNWO08HS S PN 250 12 G 3/8"-19 M20x15 9 22 29 29 22 22 24 13.94x2.62
XELORKNW10HS S PN 250 14 G1/2"-14 M22x15 13 25 36 33 27 27 27 17.86x2.62
XELORKNW13HS S PN 250 16 G 1/2"-14 M24x15 13 25 36 33 27 27 30 17.86x2.62
XELORKNW 16 HS S PN 250 20 G 3/4" -14 M30x2 12 28 39 38 30 36 36 23.47x2.62
XELORKNW20HS S PN 250 25 G1"-11 M 36 x 2 14 30 44 42 36 41 46 29.74x3.53
XELORKNW 25 HS S PN 160 30 G1.1/4"-11 M42x2 15 36 49 51 50 50 50 37.69x3.53
XELORKNW32HS S PN 160 38 G1.1/2"-11 M52x2 15 34 55 50 50 55 60 44.04 x3.53

SZHURFLLL=FER =B S=E - PN=FEEN PB=RAIFEN - 0d2=E/HER

FREE
ELORK BEARSRIESR L, $8RRSANNAANEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
22.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



